
7. 3x +2x+1 -4x-2 AIRFTA 21+y + 7x+3 Ra 

8. 2r +7x 3r- 747alj4 9R1 2x-xE+ 6x+24 7a2 AII 

HIR8 x= 47 1T 7x-3 +5x +93 AM Aa 

TA8 x=4 IT 

7x-3= 7 x4-3 = 28-3= 25 

r= 47IK 

+5x + 19 = (4) +5 x4+9= 45 

12.9 TaA14 E 5IA4 
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12.9.1 AA ZI 

1. 
a9T7 a = (a +b + c) 

7TTT fa CFUT iATA= a +a +a 

= 3a 9 b 

(7 ag 7RAT 7AITis a = b = c) 

2. 1AI UrE TI8 a 

D1 TT = a 4 

b 

TT = 2(7 +22) 

2(a + b) 9 

TT I = 7R x a7 =a x b = ab ai 9 

a 

79 fA =? 

PH R 
2x 3 +4= 22 

4x3 +3 x 2 18 
x3 22+4 

4x +3y X3 

y=2 

+4x +3 x-2 E2 +4 x (2)+3=-1
pg +pq + 2p + 4 p1x (2) + (1)2 x 2+2x1 +4 

= 4 +2+2 +4 12 
4 

g2 
a- b2 a= 4 42-32 16-9 =7 

b = 3 

a7 OT I a = 4 C5 7 b=3 (5 

3CRT T =a xb 
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= 4x3 así C5 fa 

= 12 7s 5 

12.9.2 TI 5ITA 

O 7RRIT = 5 

aR 7RI = 1 =2 x O 

fH = 3 = 2x 

OR T7RRTI = 5 =2x -1 I1 RFR 1 

by ARRI = 7 2x D - 1 

2x -1 A 
afo 2 x -1 = 10- 1 =9 (AKEI T 7RR1) 

IUT 50 T 7R3UCGI TITT = 2 x 50 - 1 fR 

100- I = 99 
n 7 7RRII = 2 x n - l= 2n-I (TiTRI ai) 

TTa9nBi 4Teiee bIea ArG9NUTH AATDI 2-1 

2. 4,8, 12.. 7JR 5TG Uis nT7A IATBI G 

B B 

B 
D 
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ABC TagsA oDI GIA TATB = 180 

= 180°+ 180° 360° 

ABCDEGT TAT 

= 180°+ 180° +180° = 540° 

= 180°= (3-2)x180 

3600 (4 2)x1800 

540° (5-2)x180° 

C5 3, 4, 5 RuT RCR ETO TE FRRSI 

n bi qd N 7AYE=(1-2)*180= 2(n-2)900= (2n-4)90" 

E 

A i) (ii) (iv) (1)
18 7R3 = 3 FI1 7R3T = 5 Ff8 7R =7 Tfa 7RR1 =9 

(ii) T 5 UA ðT 2 I a97 TT 

(iii) TUR 7 7 A 3 DI Tg5 (iv) Ti 9 EI 1 4 DI fag 21T 

87 GE RT 3, 5, 7,9 7RIITQDR DIAT TTA I 

2x1+1 

2x2+1 

2x3+1 
9 2x4+1 

2+1 
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(TTI, °iA) 

12n 
1. 

3m2 

FÉ 7R 2 

2n +10 2 n +8n + 16 

T6 R 3 E 7 4 

4n + 16 
3. 

3n +6 

FIE 7R 5 

-

9n2 
8n 

+. 

E R 8 
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37tr- 12.3 
1. a = 1 zi 1 a7A1|f 

a4 (iv) 
a+3 (1) 2a +1 i) a - 2a +1 ii) 

4 
(v) a +a +a -

(i) x+ 4x +3 (i) 2x+ X +3 (il) -+1 (iv) 3x +1 

( 
3. * = 1zTi UE y = - 1 i 1 f9t aAA TT fisI 18 

) x+ xy + y* 
(v) 3x + y 

(ii) + 
(vi) x*y + x 

ii) r-y? (iv) x+y+ 1| 

) +x+7+x+ x - 1 
ii) 3x- (2r- 1) 

(i) 3(x + 4) + 2x+1 

iv) (r + x)- (2x-x +1) 
(v)x +2x x + 21 + 2x +1 (vi) -4(r- 5) 

ET R A E A q x = 2. y=-3 u z = -1 
5. 

2x+y-z + 3x -2 + 

(1ii) 2xy + xy': + 3xyz + 6ry - 2xyz -6xyz 
(iv) 5-3x +2y- 7x +6y + 2+z 
(v) (2x +y+ z) - (E-3y) + (2+ x) - (5 -z) 

) (11) xy + yz + 2x 

6. * = 0 aA T7 x + 21-ptl3 r6 (OTp A a1 

jsAl- 12.4 

500 .100 
(1) 5n +1 11 
i) 3 1 
(1)x+1 

C69) 2+3 
(v) 41 

8 

2 17 
9 13 203 
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